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HEIGAME]

Players are Squirrels. All summer long, they hide
nuts and fruits in hollow tree trunks, hoping they
can retrieve them comes winter, provided they can
remember where they hid them! Each turn therefore
yields 2 phases, summer and winter. During the
summer, the squirrels hide their food, in other words
play their cards. In wintertime, they search the trees
to try and find it. The best fed Squirrel at the end of
the game is the winner!
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» Place the red border cards back
in the box. They will be used in the
« Bountiful Summer » variatio.

» Place the Tree cards in a horizontal line, in
ascending order from left to right. The number
of trees must exceed the number of players by 1.
Place the yellow Squirrel cards sporting the same
numbers underneath the Trees . As the hand plays,
the Food cards will be placed by the players, in a
column below the Tree and Squirrel cards.

» Place the following number of Moon tokens on
the Tree furthest to the right :

&h 2 players: 7 tokens
@ 3 players: 6 tokens
@ 4 players: 5 tokens

» Move immediately one of these tokens on the
yellow Squirrel card just below.

» Shuffle the blue Squirrel cards and give one

randomly, face up, to each player. The remaining
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CONTEN
& |llustrated rules % 5 Tree Tiles
% 80 food cards % 15 Moon tokens

# 10 Squirrel cards (5 yellow - 5 blue)

Dependinglonlthelnumberlofiplayers

» 2 players use only the Tree and Squirrel cards
numbered 1 to 3, 3 players use cards 1 to 4, 4
players use all cards.

> 2 players will discard the Food cards with a 3+
symbol.

card is set aside for now. The numbers on the
Squirrel cards set the order for the first hand (or
year), the missing number is skipped.

» The last player for the hand receives 2 Moon
tokens, the other players receive 1 each. The
remaining tokens are set aside above the trees.

» Shuffle the Food cards to obtain a draw deck,
cards face down.

3 players set up
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PILAY THE @ANME » All the Food cards stocked below a tree.

Squirrels live their lives according to the seasons. So
each round symbolizes one year, a winter follows
a summer, and a whole game is played during the
lifespan of a generation of squirrels.

(ORDERIOEIPIUAY,

In both summer and winter phases, the Order of Play
is set by the Squirrel cards, the missing rank being
skipped. Therefore, in a 3 player game, if players have
number 1, 3 and 4 Squirrel cards, number 1 is played
first, then 3 and 4 and so forth.

A. Dealing cards

At the beginning of the first round, the Food cards are
shuffled and each player takes 5.

The following rounds, each player gets 3 new cards in
order to remain with 5 cards in hand.

B. Summers $tock up on food

In turn and in the order set by the Squirrel cards, each
plays a Food card below 1 of the Trees according to
the following rules:

» Food Cards are arranged in columns below each
Tree.

» There cannot be more than 3 Food cards below
1 Tree.

» Cards are placed face up unless players use one of
their Moon tokens. Then the Food card is played face
down and the moon token used is set on top of it.

Players continue this way, playing in turn Food cards
until each has played 3 cards, with only 2 remaining
cards in hand.

_C. Winter: Retrieve the Food

In turn and in the order set by the Squirrel cards,
players take:
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» The Moon tokens which happen to be on the Food
and/or the Squirrel card, as well as the

Moon tokens represented on the top +. m

of the Food cards (drawn from the . EFE§gEy

stock pile).
» The Squirrel card placed underneath

Squirrel card (yellow if they take a blue
one, blue if they take a yellow).

Players arrange the Food
cards they collected in
front of them, face up
visible to all, adding to
the ones collected during
previous rounds.

If a player gets a Predator card, it must
be applied and discarded immediately.

When all players have collected a
column of cards,

» The Food cards of the remaining

column are discarded, keeping the

cards face down unrevealed. If they had Moon
tokens on them, those are also discarded.

» If the last column has not been collected, the
Moon token on the squirrel is also discarded.

» The uncollected Squirrel card is set aside, and
the Squirrel cards just returned by the players are
placed below the matching trees, for the

next round. A Moon token
is picked from the last ¢
Tree and placed on the
last Squirrel.
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Moon tokens allow for Food cards to be played face
down. The used token is then placed on the face
down card, and will be collected by whoever harvests
the cards on the column.

Players who collect the last column of cards, the one
farthest to the right, also take the Moon token on the
Squirrel.

If a players has more than 3 Moon tokens, the ones in
| excess must be discarded.

~ The discarded Moon tokens stay in the game, they are
set aside with the rest.

The game ends when no Moon Token remains on
the Last Tree at the end of a round. A game therefore
takes 7 rounds for 2 players, 6 for 3 players and 5 for 4
players. This is about how long a Squirrel lives!

Players then add their 2 remaining cards to their
face up cards. Those are the only cards they can play
directly in front of them.

These cards have to be played (their effect can be
applied in the order you choose), in the order set by
the Squirrels gathered during the last round. This
order may be important because of the impact of
specific Predator cards.

Players count their points according to the cards in front
of them, taking into account the Berries and Mushroom
cards. The player with the most points wins the game.
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Les joueurs sont des écureuils. Tout au long de léte,
ils cachent noix et fruits secs dans des arbres creux,
espérant pouvoir les retrouver lhiver veny, si tant est
quils se rappellent ou ils les ont cachés. Chaque tour
de jeu est donc composé de 2 phases, été et hiver.
En été, les écureuils cachent la nourriture, cest a dire
jouent leurs cartes. En hiver, ils retournent aux arbres
pour tenter de la retrouver. Le vainqueur est lécureuil
le mieux nourri a la fin de la partie.

INSTACEATION

» Retirez du jeu les cartes avec un

bord rouge. Elles serviront dans la ( E : e -!

variante « Eté Riche ».

» Placez les cartes Arbre en une rangée horizontale,
en ordre croissant de gauche a droite. Il doit y avoir
un arbre de plus que de joueurs. Placez en dessous
des arbres les cartes Ecureuil jaunes de mémes
numeéros. Au cours de la partie, les cartes Nourriture
seront placées par les joueurs, en colonne, en
dessous des cartes Arbre et Ecureuil.

» Placez sur [Arbre le plus a droite - celui au numéro
le plus élevé - un certain nombre de jetons Lune :

@b 2 joueurs: 7 jetons
@h 3 joueurs: 6 jetons
@h 4 joueurs: 5 jetons

» Déplacez immeédiatement lun de ces jetons sur
['Ecureuil jaune juste en dessous.

» Mélangez les cartes Ecureuil bleues et donnez-en
une, au hasard, face visible, a chaque joueur. La

carte restante est mise de coté pour linstant.

B

% Regles illustrées % 5 tuiles Arbres
# 80 cartes Nourriture # 15 jetons Lune
# 10 cartes Ecureuils (5 jaunes et 5 bleues)

Suivantileinombreldeljoueurs
» A 2 joueurs on nutilise que les cartes Arbre
et Ecureuil numérotées de 14 3, a 3 joueurs les
cartes de 1a 4, a 4 joueurs on utilise toutes les
cartes.

» A 2 joueurs les 2 cartes Nourriture portant un
symbole 3+ sont retirées du jeu.

Les numeéros des cartes Ecureuil déterminent lordre
de jeu de la premiére manche, ou année, le numéro
manquant eétant saute.

» Le dernier joueur de la manche recoit 2 jetons
lune, les autres joueurs 1 chacun. Les jetons restants
constituent une réserve placée au-dessus des arbres.

» Mélangez les cartes Nourriture pour former une
pioche, face cachée.
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Mise en place a 3 joueurs (.
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La vie des écureuils est rythmeée par les saisons.
Chaque manche correspond donc a une année, un
éte suivi dun hiver, et lensemble de la partie a la vie
d'une génération décureuils.

CRERBREED

Dans les deux phases, été puis hiver, lordre du tour
est indiqué par les cartes Ecureuil, le rang manquant
étant sauté. Ainsi, dans une partie a 3, si les joueurs
ont les cartes Ecureuil 1, 3 et 4, cest 1 qui joue en
premier, suivi de 3 puis de 4, et ainsi de suite.

A. Distribution des cartess

Au début de la premiére manche, les cartes Nourriture
sont mélangées et on en distribue 5 a chaque joueur.

Au début des manches suivantes, on distribue 3
cartes supplémentaires a chacun pour porter sa main
de nouveau a 5 cartes.

B. Eté s stocker la nourriture

Chacun a son tour, dans lordre des cartes Ecureuil,
joue une carte Nourriture sous un des Arbres en
respectant les régles suivantes :

» Les cartes Nourriture sont disposées en colonnes
en dessous de chaque Arbre.

» Il ne peut y avoir plus de 3 cartes Nourriture sous
un Arbre.

» Les cartes sont jouées face visible sauf si le joueur
utilise lun de ses jetons Lune. Dans ce cas, la carte
Nourriture est jouée face cachée et le jeton Lune
dépensé est placeé dessus.

On poursuit ainsi, chacun a son tour jouant une carte
Nourriture jusqua ce que chaque joueur ait joue 3
cartes, et quil reste a chacun 2 cartes en main.
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C. Hiver s récupérer la nourriture
Chacun a son tour, dans lordre des cartes Ecureuil, prend:
» Toutes les cartes Nourriture se trouvant sous un arbre.

> Les jetons Lune éventuellement présents sur les
cartes Nourriture et/ou sur la carte
Ecureuil, ainsi que ceux représentés
en haut des cartes Nourriture (pris -
de la réserve).

» La carte Ecureuil placée en dessous de
larbre. Le joueur rend alors son ancienne
carte Ecureuil (la jaune sil prend la bleue, la
bleue sil prend la jaune).

Le  joueur dispose — (EiReN
face visible devant lui,C'\ )y
bien visible de tous, les ( \Vaik:o%
cartes Nourriture quil a ( 11k &2
récupérées, les ajoutant a

celles des manches précédentes. 7

Si un joueur récupére une carte f
Prédateur, il doit en appliquer leffet
immeédiatement et la défausser.

Aprés que tous les joueurs aient pris une L__
colonne de cartes,

> Les cartes Nourriture de la colonne

restante sont défaussées, sans révéler celles qui
étaient cachées. Les jetons Lune qui sy trouvaient
éventuellement sont également défaussés.

» Si la derniére colonne na pas été prise, le jeton
Lune sur lécureuil est aussi défaussé.

» La carte Ecureuil non prise est mise de coté, et les
cartes Ecureuil que les joueurs viennent de rendre
sont placées sous les arbres correspondants, pour

la manche suivante. Un jeton Lune est pris sur le *

dernier Arbre et placé sur le dernier Ecureuil.
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Les jetons Lune permettent de jouer des cartes
Nourriture face cachée. Le Jeton dépensé est alors
place sur la carte face cachée, et sera récupére par le
joueur qui prendra éventuellement les cartes de cette
colonne.

Si un joueur prend la derniére colonne de cartes, la
plus a droite, il prend également le jeton Lune qui se
trouve sur [Ecureuil.

Un joueur ne peut pas avoir plus de 3 Jetons Lune, et
doit donc défausser les jetons en excédent.

Les jetons Lune défaussés ne quittent pas le jeu, ils
retournent dans la réserve.

La partie se termine lorsque, a la fin dune manche, il

_ne reste plus de jeton Lune sur le dernier Arbre. Une
partie dure donc 7 manches a 2 joueurs, 6 manches a
3 joueurs, 5 manches a 4 joueurs. Cest a peu pres le
nombre dannées de vie d'un écureuil.

’

Les joueurs ajoutent alors a leurs cartes face visible
les 2 cartes quil leur reste en main. Ce sont les seules
cartes quun joueur peut jouer directement devant lui.

Jouer ces cartes est obligatoire (appliquer leur effet
dans lordre que vous désirez), et se fait dans lordre
déterminé par les écureuils récupérés a lissue de la
derniére manche. Cet ordre peut étre important pour
leffet de certaines cartes Prédateur.

Chagque joueur calcule alors son score en fonction des
cartes quil a devant lui, sans oublier de tenir compte
des cartes baies et champignons. Le vainqueur est
celui ayant le score le plus éleve.
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Die Spieler verkdrpern Eichhérnchen, dieden Sommer
Uber Nisse und getrocknete Friichte in Baumen
verstecken. Nach Wintereinbruch hoffen sie, sich an
die Verstecke zu erinnern und diese wiederzufinden.
Jede Spielrunde gliedert sich deshalb in zwei Phasen:
Sommer und Winter. Im Sommer verstecken die
Eichhornchen Futter, indem sie ihre Futterkarten
ausspielen. Im Winter kehren sie zu den Baumen
zurlick und hoffen, das Futter wiederzufinden.
Mihsam ernahrt sich das Eichhérnchen, und wer am
meisten gefuttert hat, gewinnt die Partie.

SPIEIVORBEREITUNG

» Die Karten mit einem roten Rand
werden aussortiert. lhr benétigt sie in l
der Variante «Ertragreicher Sommer».

» Die Baume werden in aufsteigender Reihenfolge
in einer waagerechten Linie ausgelegt. Die Anzahl
der Baume entspricht der Spieleranzahl plus
1. Direkt unterhalb jedes Baums wird eine rote
Eichhérnchenkarte der gleichen Nummer ausgelegt.
Im Spielverlauf werden Futterkarten senkrecht in
einer Spalte unter den Baumen und Eichhérnchen
ausgelegt («Auslage»).

.
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» Auf dem Baum mit der hochsten Nummer werden
Mondchips platziert:

@h Bei 2 Spielern 7 Mondchips,
@A bei 3 Spielern 6 Mondchips und
@A bei 4 Spielern 5 Mondchips.

» 1 dieser Mondchips wird auf das blaue
Eichhérnchen unterhalb verschoben.

-4 ¥ _*‘I’.;

INHALT

% 10 Eichhoérnchenkarten
% 1Spielregel (5 gelbe und 5 blaue)

% 80 Futterkarten % 5 Baume
(Futter und Feinde) ¢ 15 Mondchips

BendtigtelBaumelund

» Bei 2 Spielern die Nummern 1-3, bei 3
Spielern die Nummern 1-4 und bei 4 Spielern die
Nummern 1-5.

> Bei2 Spielern werden die beiden Futterkarten
mit der Aufschrift 3+ entfernt.

> Die gelben Eichhérnchenkarten werden gemischt
und an jeden Spieler zuféllig 1 offen ausgeteilt.
Die briggebliebene Karte wird vorlibergehend
beiseitegelegt. Die NummernderEichhérnchenkarten
entsprechen der Spielerreihenfolge in Runde 1; die
fehlende Nummer wird ausgelassen.

> Der letzte Spieler der 1. Runde erhalt 2 Mondchips,
alle anderen erhalten je 1. Die tbrigen Mondchips
werden als Vorrat oberhalb der Baume bereitgelegt.

» Die Futterkarten werden verdeckt gemischt und
als Stapel bereitgelegt. ——

Spielaufbau bei 3 Spielern %’ ‘_T} E{ ¥/
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BIEERUNDE C. Winter: Futter cinsammeln

Das Leben der Eichhérnchen wird durch die
Jahreszeiten gepragt. Jede Spielrunde entspricht 1
Lebensjahr, Sommer und Winter, und das gesamte
Spiel dem Leben einer Generation quirliger

Eichhornchen.

In den beiden Phasen Sommer und Winter geben
die Eichhornchenkarten die Spielerreihenfolge vor.
(Fehlende Zahlen werden dabei tibersprungen.)
Beispiel: Wurden im  3-Spieler-Spiel  die
Eichhérnchenkarten 1, 3 und 4 ausgeteilt, beginnt
Spieler Nr. 1 gefolgt von Nr. 3 und Nr. 4 etc.

A. Futterharten austeilen

Zu Beginn der ersten Spielrunde werden die
Futterkarten gemischt und anjeden Spieler 5 ausgeteilt.

Zu Beginn der folgenden Runden erhalt jeder Spieler
3 Futterkarten dazu, um seine Kartenhand wieder auf
5 zu erganzen.

Reihum  beginnend mit der niedrigsten
Eichhérnchennummer spielt jeder Spieler reihum genau
1 Futterkarte in die Auslage gemaf} folgender Regeln:

» Die Auslage der Futterkarten wird spaltenweise
unterhalb der Baume und Eichhoérnchenkarten
gebildet.

> Einesolche Spalte bestehtaus max. 3 Futterkarten.
» Die Futterkarten werden offen in die Auslage
gespielt. Ausnahme: Gibt der Spieler 1 seiner
Mondchips aus, wird die Futterkarte verdeckt
ausgespielt und der Mondchip daraufgelegt.

“Auf diese Weise spielt jeder reihum weitere
Futterkarten aus, bis jeder 3 Karten in der Auslage
platziert hat und nur noch 2 in seiner Hand halt.

¥
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In aufsteigender Reihenfolge der Spieler-
Eichhérnchen wahlt jeder einen beliebigen Baum

und nimmt unterhalb davon:

» alle Mondchips, die sich evtl. auf
Eichhoérnchen- und Futterkarten
befinden (aus dem Vorrat),

» die Eichhérnchenkarte und
» alle Futterkarten.

Schliefilich gibt der Spieler seine (gelbe) m

Eichhoérnchenkarte zurtick
(bzw. am Ende der
Runden 2, 4 und ggf. 6
seine blaue).

Gesammelte Futterkarten
aller Spielrunden legen die
Spieler offen nebeneinander vor sich
aus. Nimmt ein Spieler eine Feindkarte,
wird ihre  Sonderfunktion  sofort
ausgefiihrt und die Karte abgeworfen.

Jeder Spieler hatsich nun 1Kartenspalte
genommen.

> Die Futterkarten der Ubriggebliebenen Spalte
kommen zusammen mit evtl darauf liegenden
Mondchips (ggf. unbesehen) aus dem Spiel.

» Wurde die letzte Spalte nicht genommen, wird
auch der auf dem Eichhérnchen liegende Mondchip
entfernt.

» Die nicht genommene Eichhoérnchenkarte wird
beiseite gelegt, und die soeben von den Spielern
zuriickgegebenen  Eichhérnchenkarten werden
unter den numerisch zugehorigen Baumen fiir die
Folgerunde ausgelegt.
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Ein Mondchip erlaubt das verdeckte Ausspielen
einer Futterkarte. Der eingesetzte Mondchip wird im
Sommer auf die verdeckte Futterkarte gelegt und ggf.
im Winter zusammen mit ihr eingesammelt.

Wahlt ein Spieler die letzte Spalte rechts aufen, erhalt
er ebenfalls den Mondchip der Eichhérnchenkarte.

Ein Spieler kann max. 3 Mondchips vorratig haben
und muss Uberzahlige ungenutzt abwerfen.

i Abgeworfene Mondchips werden nicht aus dem Spiel

- entfernt sondern in den Mondchip-Vorrat zuriick

gelegt.

Das Spiel endet, wenn zum Rundenende auf dem
letzten Baum kein Mondchip mehr verblieben ist.
Eine Spielrunde dauert folglich 7 Runden zu zweit, 6
Runden zu dritt und 5 Runden zu viert. Dies entspricht
ungefahr der tatsachlichen Anzahl an Lebensjahren

I' eines Eichhérnchens.

DieSpielermiissenihrebeidenverbliebenenHandkarten
zu ihrer Auslage hinzufiigen (setzt ihre Sonderfunktion
in beliebiger Reihenfolge ein), und zwar in aufsteigender
Reihenfolge der am Ende dieser Schlussrunde
eingesammelten Eichhdrnchennummern, denn bei
manchen Feindkartenist die Spielerreihenfolge relevant.

Dies ist das einzige Mal, dass Handkarten direkt in
die eigene Auslage gespielt werden. Abschlief}end
ermittelt jeder Spieler anhand all seiner Karten (inkl.
der Beeren- und Pilzkarten) seine Gesamtpunktzahl.

Der Spieler mit der hochsten Gesamtpunktzahl
gewinnt das Spiel.
Lk
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INGIOCO

| giocatori sono degli scoiattoli. Durante lestate,
nascondono nocio frutta secca nelle cavita degli alberi,
sperando di poterle ritrovare allarrivo dell'inverno,
facendo in modo di ricordarsi dove hanno nascoste
le cibarie. Ogni turno di gioco & composto da due fasi,
estate e inverno. In estate gli scoiattoli nascondono gli
alimenti, cioé giocano le loro carte. Durante linverno
tornano dagli alberi per tentare di ritrovarli. Vincera lo
scoiattolo che avra piu cibo al termine della partita.

PREPARAZIONE

» Si escludono le carte con il [

il

bordo rosso. Verranno usate nella -

variante “Estate Ricca’ ¥

L

» Si piazzano le carte Albero in una disposizione
orizzontale, in ordine crescente da sinistra a destra.
Deve esserci un albero in pit del numero di giocatori.
Sotto agli alberi si piazzano le carte Scoiattolo gialle
che riportano lo stesso numero. Durante la partita
le carte Cibo vengono piazzate dai giocatori, in
colonna, sotto le carte Albero e Scoiattolo.

» Sullalbero pit a destra, quello di valore piu alto, si
piazzano un certo numero di gettoni Luna:

@ in 2 giocatori: 7 gettoni

@h in 3 giocatori: 6 gettoni

@h in 4 giocatori: 5 gettoni

» Si sposta subito uno di questi gettoni sullo
Scoiattolo giallo che sta sotto.

» Si mischiano le carte Scoiattolo blu e si
distribuiscono a caso a ciascun giocatore,
rivelandone la faccia. La carta che avanza per il

B

CONTENUTO,
# Regolamentoillustrato & 5 tessere Alberi
¢ 80 carte Cibo #& 15 gettoni Luna
% 10 carte Scoiattoli (5 gialle e 5 blu)

Breparazioneltecondo
illnumeroldeilgiocatoris
» In 2 giocatori si utilizzano le carte Albero e
Scoiattolo numerate da 1 a 3; in 3 giocatori le
carte da 1 a 4; in 4 giocatori si utilizzano tutte
le carte.

> In 2 giocatori le due carte Cibo che hanno
valore 3+ vengono rimosse dal gioco.

momento viene messa da parte. | numeri delle carte
Scoiattolo determinano lordine in cui si giochera
nella prima manche, saltando il numero che manca.

» Lultimo giocatore del turno riceve due gettoni
Luna, gli altri ne ricevono uno a testa. | gettoni che
avanzano costituiscono una riserva che viene messa
sotto gli alberi.

» Si mischiano le carte Cibo e il mazzo si colloca a
faccia in giu.




[LURNOJDIIGIOCO]

La vita degli scoiattoli & scandita dal ritmo delle
stagioni. Ogni turno corrisponde a un anno, un estate
é seguita da un inverno e la partita nel suo insieme
ricalca la vita di una generazione di scoiattoli.

CLITE REL EIE

Nelle due fasi, estate e poi inverno, la sequenza del
turno € indicata dalle carte Scoiattolo, e la fila non
prevista viene esclusa. Cosi nella partita in 3, se i
giocatori hanno le carte Scoiattolo 1, 3 e 4, & 1 che gioca
per primo, seguito dal 3 e poi dal 4; e cosi di seguito.

A. Distribuzione delle carte

All'inizio della prima manche, le carte Cibo vengono
mischiate e se ne distribuiscono 5 a ciascun giocatore.

Allinizio delle successive manches, si distribuiscono
3 carte supplementari a ciascuno in modo che tutti
abbiano in mano 5 carte.

B. Estates mettere da parte il cibo

Ciascuno al suo turno, seguendo lordine delle carte
Scoiattolo, gioca una carta Cibo sotto uno degli Alberi
rispettando le seguenti regole:

» Le carte Cibo vengono disposte in colonna sotto
ciascun Albero. Non ci possono essere piu di 3 carte
Cibo sotto un albero.

» Le carte vengono messe in gioco a faccia scoperta
eccetto il caso in cui il giocatore usa uno dei suoi
gettoni Luna. In questo caso, la carta Cibo viene
giocata a faccia in giu e il gettone Luna usato viene
messo sopra.
Si continua cosi, giocando a turno ciascuno una
carta Cibo finché ogni giocatore avra giocato 3 carte,
restando con solo 2 carte in mano.

C. Inverno: ricuperare il cibo
Al proprio turno, seguendo lordine delle carte s
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Scoiattolo, ciascun giocatore prende:
> Tutte le carte Cibo che sono sotto un albero.

> | Gettoni Luna che fossero eventualmente presenti
sulle carte Cibo e/o sulla carta
Scoiattolo, come pure quelli + . e
rappresentati in alto sulle carte Cibo

(prelevate dalla riserva). 4

» La carta Scoiattolo posta sotto lalbero. A
questo punto il giocatore restituisce la sua

precedente carta Scoiattolo (sara la gialla se
prende la blu o la blu se prende la glalla)

Il giocatore dispone davanti
a sé e a faccia in su, ben C i
visibili da tutti, le carte

Cibo che ha ricuperato,
aggiungendole a quelle
delle precedenti manches.

8=

Se un giocatore ricupera una carta /
Predatore, deve applicarne leffetto
subito e poi scartarla.

Dopo che i giocatori avranno preso una
colonna di carte,

> le carte Cibo della colonna che residua, vengono
scartate, senza scoprire quelle che erano nascoste. |
gettoni Luna che eventualmente fossero la, vengono
scartati anch'’ essi.

» se lultima colonna non & stata presa, il gettone
Luna sullo scoiattolo viene scartato anch’ esso.

» la carta Scoiattolo non prelevata viene messa da
parte, e le carte Scoiattolo che i giocatori avranno
restituito sono messe sotto gli alberi corrispondenti,
per essere in gioco nella manche successiva. Un
gettone Luna viene preso dall’'ultimo albero e posto -
sullultimo Scoiattolo.
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| gettoni Luna consentono di giocare delle carte
Cibo a faccia in giu. Il gettone messo in gioco viene
quindi posto sopra la carta posta a faccia in giu ed
eventualmente sara ricuperato dal giocatore che
prendera le carte di questa colonna.

Se un giocatore prende lultima colonna di carte,
quella pit a destra, prende anche il gettone Luna che
si trova sullo Scoiattolo.

Un giocatore non pud possedere piu di 3 Gettoni
Luna e percio deve scartare quelli che ha in eccesso.

| gettoni Luna scartati non sono fuori gioco, ma
restano nella riserva.

EINEIDELCIAYPARTITAY

La partita finisce quando, al termine di una manche,
non restano piu gettoni Luna sullultimo Albero.

- Percio una partita in 2 giocatori dura 7 manches, in 3
giocatori 6 manches e 5 manches in 4 giocatori. Sono
circa gli anni di vita di uno scoiattolo.

A quel punto i giocatori aggiungono alle loro carte
scoperte anche le due carte che restano a loro in
mano. Soltanto queste possono essere messe in
gioco da un giocatore davanti a sé.

Giocare queste carte & obbligatorio (si applica il
loro effetto nellordine che si preferisce) e questo
avviene secondo lordine determinato dagli scoiattoli
ricuperati nel corso dellultima manche. Questordine
puo essere importante alla luce degli effetti di certe
carte Predatori.

A quel punto ogni giocatore calcola il suo punteggio
secondo le carte che ha davanti a sé senza

dimenticare di conteggiare le carte bacche e funghi.
Chi avra il punteggio piu alto sara il vincitore.
Lk 41
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EL)JUEGO)

Los jugadores son ardillas que durante todo el verano
han ido almacenando provisiones en los agujeros de
los arboles para recuperarlas cuando llegue el invierno.
iPero para ello deberan recordar donde las escondieron!

Cada ronda de juego tiene 2 fases: verano e invierno.
Durante el verano las ardillas esconden provisiones en
los arboles, es decir, juegan sus cartas de comida en ellos.
Cuando llega el invierno sera el momento de recogerla
intentando recordar qué hay en cada uno. jLa ardilla
mejor alimentada al final del juego sera la ganadora!

DEDARAGIEN

» Coloca las cartas con borde rojo [
en la caja. Estas seran utilizadas en la -
variante de juego «Verano fructifero». 1

» Se colocan las cartas de arbol formando una
linea horizontal en orden ascendente de izquierda
a derecha. El nimero de arboles en juego debe
superar al de jugadores en uno. Se pone cada carta
de ardilla amarilla debajo del arbol que tenga su
mismo ndmero. A medida que se vaya jugando,
las cartas de comida se colocaran formando una
columna bajo cada carta de arbol.

» Se coloca el siguiente nimero de contadores de
luna en el arbol situado mas a la derecha:

@ 2 jugadores: 7 contadores
@h 3 jugadores: 6 contadores
@ 4 jugadores: 5 contadores

» Una vez colocados los contadores, se mueve
uno sobre la ardilla amarilla que se encuentra justo

debajo. Ve,

-4 ¥ _*‘I’.;

CONTENIDO

# Reglas de juego #& 15 marcadores de luna
& 80 cartas de comida & 5 fichas de arbol
# 10 cartas de ardilla (5 amarillas y 5 azules)

Segunlelinumeroldeljugadorey
» En partidas de 2 jugadores se usan solo las cartas
de arbol y las cartas de ardilla numeradas del 1 al 3.

En partidas de 3 jugadores usan las cartas del1al 4 y
con 4 jugadores juegan todas las cartas.

» Con 2 jugadores se descartan las cartas de comida
marcadas con un 3+ antes de empezar a jugar.

» Elresto de contadores se coloca en una pila aparte
para cogerlos segln marquen las cartas de comida
durante la partida.

» Se mezclan las cartas de ardilla azul y se da una
al azar bocarriba a cada jugador. La carta sobrante
se deja de lado por el momento. Los nimeros en la
carta de ardilla establecen el orden para la primera
ronda (o afo), saltandose el nimero eliminado.

» El jugador que tiene el dltimo turno recibe 2
contadores de luna y los otros 1 cada uno. Los
contadores restantes se dejan aparte.

» Finalmente, se mezclan las cartas de comida para
formar la pila de robo con las cartas bocabajo.

r'{-}
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Preparacion para 3 jugadores
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CLORMO), JJUEG'A » Todas las cartas de comida almacenadas bajo un

Las estaciones marcan el ritmo de vida de las ardillas.
Asi, cada ronda simboliza un afio. Tras el invierno llega
el verano y una partida completa representa la vida de
una generacion de ardillas.

EASESIDELYUEGO)

Tanto en verano como en invierno, el turno de juego
se define por las cartas de ardilla saltandose la carta
eliminada. Asi, en una partida de 3 jugadores si se
han repartido de las cartas de ardilla1,3y 4 el 1es el
primer jugador, luego va el 3 y luego el 4.

A. Reparto de cartas
Al principio de la primera ronda se mezclan las cartas
de comida y cada jugador toma 5.

En las siguientes rondas, cada jugador coge 3 nuevas
cartas para tener siempre 5 en la mano.

B. Verano. Almacenar comida

Por turno y en el orden marcado por las cartas de
ardilla, cada jugador juega una carta de comida debajo
de uno de los arboles siguiendo las siguientes reglas:

» Las cartas de comida se colocan en columnas
debajo de cada arbol.

» No puede haber mas de tres cartas debajo de un
arbol.

» Las cartas se colocan bocarriba a no ser que el
jugador use uno de sus contadores de luna. Entonces
la carta se juega bocabajo y el contador de luna
utilizado para ocultarla se coloca sobre ella.

» Los jugadores contindan jugando sus cartas de
comida por turno hasta que han jugado 3 cartas y
s6lo les quedan 2 en la mano.

- Co Invierno. Buscar comida
Por turno y siguiendo el orden marcado por las cartas
de ardilla los jugadores cogen:

(14

arbol a su eleccion.
» Los contadores de luna que haya en la comida y/o
la carta de ardilla de ese arbol, asi como los contadores

de luna que muestren las cartas de m
comida en su parte superior (se ‘.

cogen de los dejados aparte). ;m

» La carta de ardilla colocada debajo
del arbol. Inmediatamente después de
hacerlo los jugadores devuelven su antigua
carta de ardilla (azul si han cogido una
amarilla, amarilla si han cogido una azul).

Cada jugador ordena las
cartas de comida que '
ha conseguido delante ("
de él de forma que sean ( \( 2
visibles para todo el mundo

anadiendo las que ha conseguido a las "
que ya tenia de rondas anteriores.

Si un jugador se lleva una carta de
depredador, ésta debe ser jugada al
momento y después descartase.

Cuando todos los jugadores han cogido una columna
de cartas de un arbol:

» Las cartas de comida de la columna sobrante se
descartan, dejandose bocabajo sin revelar. Si habia
algln contador de luna en ellas, se descarta también.

» Si la columna que no ha sido cogida es la del
altimo arbol, el contador de luna que se encuentra
en la ardilla se descarta también.

» La carta de ardilla que ha quedado por coger se
aparta y las cartas de ardilla que han sido devueltas
por los jugadores se colocan debajo de los arboles
correspondientes para la proxima ronda. Se coge un
contador de luna del dltimo arbol y se coloca sobre
. la dltima ardilla.
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Los contadores de luna permiten jugar cartas de
comida bocabajo. Al usar un contador de luna, se deja
sobre la carta en la que se utiliza y se lo quedara el
jugador que coja las cartas de ese arbol.

Cuando un jugador coge las cartas del arbol situado
mas a la derecha, coge también el contador de luna
que tiene la ardilla.

Si un jugador tiene 3 contadores de luna, debera
} descartar los que coja de mas. Los contadores
descartados contindan en juego y se colocan aparte
con el resto.

El juego finaliza cuando no queda ningn contador
de luna en el dltimo arbol al final de una ronda. Asi
un juego dura 7 rondas para 2 jugadores, 6 para 3
jugadores y 5 para 4 jugadores. {Este es el tiempo de
| vida de una ardilla!

Cuando acaba el juego los jugadores anaden sus
dos cartas restantes a su reserva de alimentos. Estas
cartas son las Unicas cartas que ellos pueden jugar
directamente en su reserva de comida.

Estas dos cartas deben jugarse también (su efecto
puede aplicarse en el orden que el jugador elija)
siguiendo el orden establecido por las ardillas durante
la dltima ronda. Este orden es importante debido al
efecto de algunas cartas de depredador.

Los jugadores cuentan los puntos conseguidos con
sus cartas de frutos y de setas. El jugador con mas
puntos gana del juego.
Lsk 2
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Os jogadores sdo Esquilos. Durante todo o verdo eles
terdo que esconder frutos secos em troncos ocos de
arvores, na esperanca de os poderem recuperar assim
que chegue o inverno - mas para isso terdo que se
lembrar do seu esconderijo! Cada turno é composto
por duas fases: o verdo e o inverno. Durante o verao,
os esquilos escondem os seus alimentos, ou seja,
jogam as suas cartas. No inverno, eles procuram as
arvores na esperanca de os encontrarem. No final do
jogo, o Esquilo que melhor se alimentar € o vencedor!

DREADARAGA®

» Retira do jogo as cartas
com margens vermelhas. Elas -
utilizam-se na variante «Verao TS

Feértil».

» Coloca as cartas de Arvore numa linha horizontal,
de forma crescente da esquerda para a direita. O
numero de arvores deve ser maior do que o nimero
de jogadores por 1. Coloca as cartas dos Esquilos
amarelas pela mesma ordem, por baixo das cartas
de Arvore. A medida que o jogo avanca, as cartas
de Alimento sdo colocadas pelos jogadores numa
coluna abaixo das cartas de Arvore e de Esquilo.

_ » Coloca o seguinte nimero de pecas de Lua na
[ - arvore mais a direita:

@ 2 jogadores: 7 pecas

@h 3 jogadores: 6 pecas
. ¢h 4jogadores: 5 pecas
» Move de seguida uma dessas pecas para a carta
amarela de Esquilo em baixo.

B

# Regras ilustradas # 5 Pecas de Arvore
#& 80 cartas de Alimento # 15 pecas de Lua
# 10 cartas de Esquilo (5 amarelas e 5 azuis)

Dependendoldolnumeroldeljogadore’

» Com 2 jogadores usam-se apenas as cartas de
Arvore e de Esquilo numeradas de 1 a 3; com 3
jogadores as cartas numeradas de 1 a 4; com 4
jogadores usam-se as cartas todas.

» Com 2 jogadores descartam-se as cartas de
Alimento que tenham o simbolo 3+.

» Baralha as cartas azuis de Esquilo e, de forma
aleatoria, dauma carta virada para cima a cada jogador.
A carta que sobrar é colocada de lado por agora. Os
nameros nas cartas de Esquilo estabelecem a ordem
de jogo para a primeira ronda (ou ano), salta-se o
ndmero que faltar.

» O dltimo jogador recebe duas pecas de Lua
enquanto que os restantes recebem uma. As pecas
que sobrarem sao colocadas numa reserva a parte,
perto das arvores.

» Baralha as cartas de Alimento e coloca-as viradas
para baixo.

Preparacdo para um jogo com 3 jogadores
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COMOJIOGAR!

Os Esquilos vivem as suas vidas de acordo com as
estacoes do ano. Portanto, cada ronda simboliza um
ano, em que o inverno vem a seguir ao verao e o jogo
€ jogado durante a vida duma geracao de esquilos.

DEN OGO

Tanto nas fases de verao como de inverno, a Ordem
de Jogo é determinada pelas cartas de Esquilo,
saltando a posicao que faltar. Portanto, numa partida
para 3 jogadores, se estes tiverem as cartas de Esquilo
1,3, e 4, o que tiver o 1 joga em primeiro, depois o0 3 e
depois o 4.

A. Distribuigéo de cartas

No inicio da primeira ronda, as cartas de Alimento sao
baralhadas e cada jogador vai buscar 5. Nas rondas
seguintes, cada jogador vai buscar 3 cartas de forma
a ter sempre 5 cartas na mao.

B. Verdo: armazenar os alimentos

A vez e pela ordem determinada pelas cartas de Esquilo,
cada jogador joga uma carta de Alimento por baixo
duma das Arvores de acordo com as seguintes regras:

» As cartas de Alimento sdo dispostas em colunas
por baixo de cada Arvore.

» Nao pode haver mais do que 3 cartas de Alimento
debaixo duma Arvore.

» As cartas sdo colocadas viradas para cima a nao
ser que um jogador use uma das suas pecas de Lua.
Nesse caso, a carta de Alimento é jogada virada para
baixo e a peca de Lua € colocada por cima dessa carta.

Os jogadores continuam a jogar a vez as suas cartas
de Alimento até que cada um tenha jogado 3 cartas,
restando na sua mao apenas 2 cartas.

€. Invernos recuperar os alimentos
A vez e na ordem determinada pelas cartas de
' Esquilo, os jogadores pegam em:

) F"_”’ .
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» Todas as cartas de Alimento que estejam debaixo
duma arvore.

» Todas as pecas de Lua que possam estar em cima
da carta de Alimento e / ou de m
Esquilo, tal como as pecas de Lua . W= A
representadas em cima das cartas -
de Alimento (retiradas da reserva).
» A carta de Esquilo colocada por baixo da Arvore.
Os jogadores devolvem posteriormente a
carta de Esquilo que tinham em sua posse
anteriormente (amarela se pegarem numa |
azul, azul se pegarem numa amarela). '
Os jogadores organizam as
cartas de Alimento
que recolheram a sua
frente, viradas para cima
e visiveis para todos os
jogadores, juntando-as as
outras de rondas anteriores.

Se um jogador tiver pegado numa carta
de Predador, entdo essa carta deve ser
resolvida e descartada de seguida.

Quando todos os jogadores tiverem
pegado numa coluna de cartas,

» As cartas de Alimento da coluna que restar sdo
descartadas, mantendo por revelar as cartas que
estdo viradas para baixo. Se as cartas tiverem pecas
de Lua, estas sao descartadas.

» Se a ultima coluna ndo tiver sido recolhida, a peca
de Lua no Esquilo também é descartada.

» A carta de Esquilo que restar é posta de lado, e
as cartas de Esquilo que tiverem sido devolvidas
pelos jogadores sao colocadas por baixo da Arvore

correspondente para a proxima ronda. Uma peca de -

Lua é retirada da altima Arvore e colocada no dltimo
_ Esquilo.

. .
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Os jogadores juntam depois as duas cartas que restam
as cartas viradas para cima (aplicar os seus efeitos na
ordem que desejares). Essas serdo as Unicas cartas que
os jogadores poderdo jogar para a sua frente. Estas
cartas terao que ser jogadas pela ordem determinada
pelos Esquilos recolhidos na Gltima ronda. Esta ordem
pode ser importante por causa do impacto de cartas
de Predator especificas.

Os jogadores contam os pontos de acordo com as
cartas que tém a sua frente, tendo em conta as cartas ]
de Bagas e de Cogumelos. O jogador que tiver mais
pontos ganha o jogo.

Uik 12

BecasidelLual

As pecas de Lua permitem que as cartas de Alimento
sejam jogadas viradas para baixo. A peca usada é
depois colocada sobre a carta virada para baixo e sera
recolhida pelo jogador que pegar nas cartas dessa
coluna.

Os jogadores que recolhem a ultima coluna de cartas,
a coluna mais a direita, também recolhem a peca de
Lua que esta em cima do Esquilo.

Se um jogador tiver mais do que 3 pecas de Lua, as
que sobrarem terao que ser descartadas.

Essas pecas continuam em jogo mas voltam para a
reserva.

.| FRIPe [6eE
g o jogo termina quando nao restar nenhuma peca de
Lua na dltima Arvore, no fim duma ronda. Por isso,
- um jogo dura 7 rondas com 2 jogadores, 6 rondas com
3 jogadores e 5 rondas com 4 jogadores. Estes sao os
anos de vida dum Esquilo.




# Geillustreerde regels % 5 Boomtegels
% 80 Voedselkaarten ®& 15 Maanpenningen

| ! 2-4 ]
# 10 Eekhoornkaarten (5 gele en 5 blauwe)
HETRPEL

De spelers zijn eekhoorns. Gedurende de zomer Athankelijk m%mm

verbergen ze noten en droge vruchten in holle bomen, > Met 2 spelers gebruikt men enkel de Boom- en
in de hoop dat ze die zullen terugvinden eenmaal de Eekhoornkaarten die van 1 tot 3 genummerd zijn,
winter gekomen is, als ze tenminste onthouden waar ze met 3 spelers de kaarten van 1 tot 4, en met 4
verborgen zijn. Elke spelronde bestaat dus uit 2 fasen, de spelers gebruikt men alle kaarten.

zomer en de winter. In de zomer verbergen de eekhoorns > Met 2 spelers worden de Voedselkaarten met het
het voedsel, dat wil zeggen dat ze hun kaarten spelen. In symbool 3+ uit het spel verwijderd.

de winter keren ze terug naar de bomnen om het voedsel
terug te vinden. De winnaar is de eekhoorn die aan het wordt tijdelijk terzijde gelegd. De nummers op deze

einde van het spel het best gevoed is. Eekhoornkaarten bepalen de volgorde waarin deze
eerste ronde (of eerste jaar) gespeeld zal worden; het
OPSTELLING . ontbrekende cijfer wordt overgeslagen.

» De laatste speler van de ronde ontvangt twee
boord uit het spel. Die zullen van pas Maanpenningen, de overige spelers elk één. De
komen in de variant “Rijke Zomer’. resterende penningen vormen een reserve die boven
» Plaats de Boomkaarten in een horizontale rij, in ~ de bomen wordt geplaatst.

stijgende volgorde van links naar rechts. Er moet €én  , Schud de Voedselkaarten en vorm er een dek mee,
boom meer zijn dan dat er spelers zijn. Plaats de gele met de zichtbare zijde naar beneden.

Eekhoornkaarten met overeenstemmmende nummers
onder de bomen. In de loop van het spel, zullen de
Voedselkaarten door de spelers in kolommen gelegd
worden onder de Boom- en Eekhoorn kaarten.

» Verwijder de kaarten met een rode (

» Plaats een aantal Maanpenningen op de boom die
zich uiterst rechts bevindt, dus degene met het hoogste
cijfer:

@ 2 spelers: 7 penningen

@ 3 spelers: 6 penningen

@h 4 spelers: 5 penningen

» Verplaats onmiddellijk een van deze penningen op
de gele Eekhoorn er net onder.

» Schud de blauwe Eekhoornkaarten en geef er
willekeurig een aan elke speler, met de afbeelding
zichtbaar (naar boven). De resterende kaart &~
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BEERONDE
Het leven van eekhoorns wordt bepaald door de
seizoenen. Elke spelronde stemt overeen met een jaar,
dus een zomer gevolgd door een winter, en het volledig
spel met de levensduur van een generatie eekhoorns.

VOLGORDE

In beide fasen, zomer en winter, wordt de spelbeurt
aangegeven door de Eekhoornkaarten, en het
ontbrekende ciffer wordt overgeslagen. Neem
bijvoorbeeld een partij met 3 spelers waarin de
Eekhoornkaarten 1, 3 en 4 uitgedeeld worden: de speler
met kaart nummer 1 begint, gevolgd door 3 en dan 4,
enzovoort.

A. Het delen van de kaartens

Bij het begin van de eerste ronde worden de
Voedselkaarten geschud en worden er 5 aan elke speler
uitgedeeld.

Aan het begin van de volgende spelrondes worden er 3
extra kaarten aan elke speler uitgedeeld zodanig dat ze
opnieuw 5 kaarten in de hand hebben.

B. Zomers voedsel opslaan

Op zijn beurt speelt elke speler, in de volgorde van de
Eekhoornkaarten, een Voedselkaart onder een van de
Bomen met respect van volgende regels:

» De Voedselkaarten worden onder elke Boom in
kolommen gelegd.

» Er mogen niet meer dan 3 Voedselkaarten onder een
Boom liggen.

» De kaarten worden gespeeld met de zichtbare zijde
naar boven, tenzij de speler gebruik maakt van één van
zijn Maanpenningen. In dit geval wordt de Voedselkaart
gespeeld met de zichtbare zijde naar beneden en de
gebruikte Maanpenning wordt er bovenop geplaatst.

_ Het spel wordt zo verdergezet. leder op zijn beurt speelt
een Voedselkaart totdat elke speler 3 kaarten heeft
gespeeld en slechts 2 kaarten overhoudt in zijn hand.

i
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C. Winters het verzamelen van voedsel

Op zijn beurt neemt elke speler, in de volgorde van de
Eekhoornkaarten:

» Al de Voedselkaarten die zich onder een Boom
bevinden.

» De Maanpenningen die eventueel aanwezig zijn
op de Voedselkaarten en / of op de Eekhoornkaart,

evenals degene die bovenaan de m

Voedselkaarten afgebeeld staan (die ": ®=afm=

uit de reserve genomen worden). 2 m

» De Eekhoornkaart die onder de boom ligt.
De speler geeft dan zijn vorige Eekhoornkaart |8
terug (de gele als hij de blauwe neemt, de |2

blauwe als hij de gele neemt). &

De speler legt, duidelijk
zichtbaar voor iedereen, —\W%
de Voedselkaarten die hij \
teruggekregen heeft voor zich C 2
uit, eventueel naast de kaarten @ \\E-» =
uit de voorgaande rondes.

Als een speler een Roofdierkaart krijgt, /
moet hij het effect ervan onmiddellijk |
toepassen en zich ervan ontdoen. ]

Nadat alle spelers een kolom kaarten
hebben genomen,

» worden alle Voedselkaarten van de resterende kolom
verwijderd zonder de kaarten die verborgen waren te
onthullen. De Maanpenningen die er eventueel op
liggen, worden ook verwijderd.

» en als de laatste kolom niet werd genomen, wordt de
Maanpenning op de Eekhoorn ook verwijderd

» de niet genomen Eekhoornkaart wordt terzijde

gelegd, en de Eekhoornkaarten die de spelers net

ingeruild hebben worden onder de overeenstemmende

boom gelegd, voor de volgende spelronde. Een

Maanpenning wordt van de laatste Boom genomen en
_ op de laatste Eekhoorn geplaatst.

a
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De spelers voegen dan de 2 kaarten die ze in hun hand
overhouden toe aan de kaarten die er al met zichtbare
zijde naar boven liggen. Dit zijn de enige kaarten die een
speler rechtstreeks voor zich uit mag leggen.

Het is verplicht deze kaarten te spelen (Pas hun effect
toe in willekeurige volgorde), en de volgorde waarin het
gebeurt, wordt bepaald door de Eekhoornkaarten die
aan het einde van de vorige ronde gekregen werden.
Deze volgorde kan belangrijk zijn voor het effect van
bepaalde ongewenste kaarten.

Elke speler berekent vervolgens zijn score op basis van de
kaarten die voor zich liggen, zonder te vergeten rekening
te houden met de bessenkaarten en paddenstoelkaarten.
De winnaar is de speler met de hoogste score.

LiE + 12 < U G

De Maanpenningen laten de spelers toe Voedselkaarten te
spelen en de zichtbare zijde ervan verborgen te houden. De
gebruikte penning wordt dan bovenop de verborgen kaart
gelegd en na de spelronde teruggenomen door de speler
die eventueel voor de kaarten van deze kolom zal kiezen.

Als een speler de laatste kolom kaarten neemt, uiterst
rechts dus,

dan neemt hij ook de Maanpenning die zich op de
Eekhoorn bevindt.

| Eenspelermagniet meerdan 3 Maanpenningen bezitten,
en moet dus de overtollige penningen verwijderen.

De verwijderde Maanpenningen verlaten het spel niet,
ze worden in de reserve gelegd.

Het spel eindigt wanneer er, aan het einde van een
ronde, geen Maanpenning meer overblijft op de laatste
Boom. Een partij duurt dus 7 spelrondes met 2 spelers,
6 rondes met 3 spelers, 5 rondes met 4 spelers. En dat
| is ongeveer de levensverwachting van een eekhoorn. ..




NOHEHTBI
& lNpaBuna nrpol % 5 KkapTt JepeBbeB
& 80 KapT Eabl % 15 eToHOB JlyHbl
& 10 KapT benok (5 »EnTbIX 1 5 CUHKX)

(@63oD)

YyacTHWKM NpeAcTaBnAioT ceba Ha mecTe benok. Bcé neto BEEaBuCMMOCTN KONMUECTBAUEPOKOB,
OHW NPAYYT opexm 1 GPYKTbl B NYCTbIX CTBOMAX AePEBbLEB,

yTO6bI JOCTATh VX C MPUXOAOM 3MMbl — €CJIN OHW CMOTYT
ux HanTn! Kaxgbln xop coctout u3 2 ¢as: Jleto n 3uma.
Jletom 6enku npavyT efy (BblknagblBalOT KapTbl). 3UMon
6enku MuyT cBoM TalHble 3anacbl. Camas cbitas benka
no6expaaert B urpe!

» lNpu urpe ¢ 2 yyacTHVMKamu, UCNOMb3ynTe KapTbl
[lepeBbeB 1 benok Tonbko ¢ Homepamu ot 1 go 3.
Mpu urpe ¢ 3 yyacTHWKamu, UCMONb3ynTe KapTbl
[epeBbeB 1 benok Tonbko ¢ Homepamu ot 1 go 4.
Mpu nrpe ¢ 4 yyaCTHUKaMK, NCMONb3YiiTe BCe KapTbl
[lepesbes 1 benok.

NOATOTOBKA K MITPE > Tpu nrpe ¢ 2 yuacTHIKaMI, OTAIOXMUTE B CTOPOHY

4 N BCe KapTbl EAbl C Homepom 3+.
> OTnoXuTe KapTbl C KPACHOW PamMKom

B CTOPOHY — OHU MOHAAOBATCA Bam E - P ‘

JANA BapyaHTa urpbl <YpoxaiiHoe neto». [ » VIrpoK, KOTOpbili LenaeT XO4 MOCIefHUM, Monyvaet
2 XeToHa JlyHbl, B TO BPeMA KakK OCTaJibHble WUIPOKu

> Boinoxute  kapTel  [lepesbes nosyyaloT no 1 keToHy JlyHbl. OCTaBWIMECH KETOHbI

B TOPW3OHTaNbHbIA PAJ CneBa HampaBo B MopsAgke OTNOXMWTE B CTOPOHY.
Bo3pacTaHuA. Kapt [lepeBbeB B Urpe AOMKHO ObiTb Ha
ofHy 6orbLue, YeM UrPOKOB. PacnonoxuTe XeénTble KapTbl
benok nog Kaptamu [lepeBbeB € TaKUMM e HOMepamu.
B xome wrpbl yyaCTHUKM BblKnagpblBaloT KapTtbl Egbl B

BEPTVKa/bHble pAAbl MOA KapTamu [lepeBbes 1 benok. I0d20Mo8Ka K uzpe ¢ 3 y4acmHuKamu
> [lonoxuTte HyKHOE KONWYECTBO KETOHOB JIyHbl Ha
KpalHioto npasyto KapTy [lepesa:

@A npu urpe c 2 yuacTHUKaMm: 7 XETOHOB

@A npu urpe c 3 yuacTHUKaMK: 6 XETOHOB

@ npu nrpe ¢ 4 yuacTHUKaMK: 5 XETOHOB

> lNepemeluaiiTe KapT EAbl 1 NONOXKUTE MOMYUMBLLYIOCA
Kosogy Ha CTon py6aluKoii BBEPX.

> Bo3bmuTe OAMH M3 3TUX XKETOHOB U MONOXNWTE €ro Ha
XEnTylo KapTy benku, pacnonoeHHyio nop KparHew
npason kapTon [epeBa.

» lNepemellaite cMHMe KapTbl benok u pasparte no 1
BCeM mrpokam. OcTaBLUMECA KapTbl OTIOKMNTE B CTOPOHY.
Homepa Ha Kkaptax benok onpefensioT nopaaok xopa
B nepBom payHge (ropy). [lponyweHHble Homepa
UFHOPUPYIOTCA.




XA Pl

Kun3Hb benok 3aBMCUT OT CMeHbI Ce30HOB. KaxkablI payHp,
npepacTaBiser cobon 1 roa: 3uma cmeHset neto. Wrpa
npeAacTaBaseT cobou XK3HEHHbIN LK OAHOTO NMOKONeHUs
6enok.

B obenx dasax (Jleto n 3uma) nopagok xopa 3afaérca
KapTamu benok (nponyLieHHble HOMepa UrHOPUPYIOTCA).
Tak, ecnn npu urpe ¢ 3 yyacTHMKamm y UrpOKOB eCTb
KapTbl benok ¢ Homepamu 1, 3 n 4, Urpok ¢ KapTon benkn
C HoMepoMm 1 genaeT xof NepBbIM, 33 HUM CieflyeT UrpoK
C KapTon benkn c Homepom 3, 3aTeM — UrpoK C KapTon
benkn c Homepom 4.

A. Pazpaua kaprt

B Hauane mepBoro payHfja nepemeluavite Kaptbl Efbl.
Kax bl urpok 6epét 5 KapT 13 Konogbl KapT Eabl.

B Hauane Kaxkgoro nocneayowero payHaa Kaxkabii MrpoK
6epéET 3 KapTbl M3 KOMOAbl, YTOObl Y HEro B pyKe CHOBA
0OKas3anocb 5 Kapr.

Bb. Aeto: Co3panMe 3anacoB

B nopagke, 3agaHHOM KapTamu benok, Kakpgbli Mrpok
BblKJ1aAlbIBa€T KapTy E,qbl B OANH U3 BEPTUKaJIbHbIX PAOOB
B COOTBETCTBUM CO CnefyrownmMn npasunamun:

> Wrpokn BbiknagblBaloT KapTtbl Egbl B BepTuKanbHble
pAmdbl Nof Kaxzon kapton [lepesa.

> MNop opHol KapTol [epeBa MOXET ObiTb He Gonee 3
KapT Egpl.

> KapTbl BbIKNagblBalOTCA NULEBOM CTOPOHOW BBEPX,
€C/IN TOMbKO UFPOK He MUrpaeT OAUH W3 CBOWX XXETOHOB
JlyHbl. B Takom cnyyae, OoH BbiKnagbiBaeT Kapty Egpl
py6allKol BBEPX U KNAAET Ha HEE CBOM KETOH JIyHbI.

Mrpoku npoponaloT BblKNafblBaTb KapTbl, MOKa Kaabli

U3 HYX HE BbITOXKUT 3 KapTbl (B PyKe Y BCEX UTPOKOB AOMKHA
0CTaTbCA TONIbKO ABE KapTbl).

B. 3uma: lNouck sanacos
B cBoi xop (MopAgok xopa 3apaérca KapTamu benok)
Urpok 6epért: 4

> Bce kaptbl Egbl nog kapTton [epeBa B BepTUKaSbHOM
pAagy.

> KeToHbl JlyHbl, KOTOpble HaxogATCcA
Ha KapTe Eabl n/wunn Ha kapte benkn .
(13 pe3epBa), a TakxKe KeToHbl JyHbl, .
yKasaHHble Ha KapTax Efpbl.

> Kapty benku, pacnonoeHHyto nog KapTton
[epeBa. 3aTeM UrpoK OTAAET CBOKO CTapylo
KapTy benkm — Xéntyio, ecnm Urpok B3An
CVHIo KapTy benku, n cuHioto, ecnv oH B3An
XEnTyto KapTy benku.

Wrpokn pacnonaratotr il
cobpaHHble KapTbl Eabl Ha C \ k\“
cTone nepeg coboii nLeBoi M . "i
CTOPOHOW BBEPX BMeCTe C C--‘ ol
KapTamu Epfbl, KoTopble OH = =~
B3/ B NPeAbIAYyLMX payHAAX.

Ecnn wrpok B3An KapTy XuWlWHWKa, OH
JOO/MKEH HeMefneHHO MNPUMEHUTb eé
3¢ deKT, a 3aTemM COpoCUTD €.

Kak Tonbko Bce WTPOKN B3ANN KapTbl 13
BePTUKasibHOro pAafa,

» CbpocbTe KapTbl Egbl U3 ocTaBLIerocs BepTMKanbHOIo
pAga, He MAAA Ha UX NINLEBYIO CTOPOHY, a TaKXe METOHbI
JlyHbl Ha 3TUX KapTax.

> Ecnm Kaptbl M3 nocnepHero BepPTMKaNbHOIO pAfa
OCTaNncb Ha cTosnie, cbpocbTe KeToH JlyHbl Ha KapTe
benku.

> OTnoxuTe B CTOpPOHY KapTy benku, octaBwyioca Ha
cTone. Irpokn otgalot cBou KapTbl benok: pasnoxute
ux nop KapTamu [epeBbeB C TakuMU e HOMepamu.
Bo3bmuTe xeToH JlyHbl C KpaliHew
npaBon Kaptbl [epeBa u
MOJIOXKMTE €ro Ha KapTy
benku nog Hen.




?KeToHbI JTyHbl NO3BONAIOT BLINOXWUTb KapTbl EAbl pybaLuKon
BBepX. /Icnonb30BaHHbIN XeToH JIyHbl BblKnaablBaeTcs Ha
KapTy, Nexallyto py6allKoii BBepX: OH JOCTAHETCA UrPOKY,
KOTOPOW BO3bMET BCe KapTbl M3 3TOr0 BepTMKalbHOro
pApa.

Mrpok, KoTopbiii 6epéT KapTbl 13 MocnegHero (KpanHero
NpaBoro) BepTMKaNbHOrO pPAfAa, TakkKe MoJsyyaeT MEeTOH
JlyHbl, pacnonoeHHbIN Ha KapTe benku.

Ecnny urpoka 6onee 3 )eToHOB JIyHbl, OH JOIIKEH CKUHYTb
NNWHWe.

C6pOLIJeHHbIE KETOHbI OCTalOTCA B Urpe (oTnoxunTe ux B
CTOPOHY BMeCTe C OCTaJ/IbHbIMU XKeToHamu).

HOHEIMNGEDI

Mrpa3aBepLuaeTcs, Kak TofIbKO B KOHLe payH[a Ha noc/iegHen

KapTe [lepeBa He OCTaHETCA HW OAHOrO »eToHa JlyHbl. Tak,

urpa € 2 yyaCTHUKaMn 3akaHuMBaeTcA mocre 7 payHIoB,
_ \rpa c 3 yyactHMKamMn — nocsie 6, a urpa ¢ 4 yyacTHUKamy —

nocsne 5. [pMMepHO CTOMBLKO 1 XK1BYT 6enku!

3atem WUFPOKM BbIK/IafblBAOT 2 OCTaBLIMECA KapTbl Ha
CTON NuueBON CTOpOHOVI BBEPX: 3TO €AWHCTBEHHbIE

KapTbl, KOTOPble UFPOK MOXET BbIJIOXKUTb CbIrPaTb Ha CTON
nepep cobon.

TV KapTbl BbIKMALLIBAIOTCA B MOpsAKe (MPUMEHUTE IX
apdekT B N06OM nopsagke), 3agaBaeMoM KapTamu benok,
KOTOPbIE UrPOKY B3ANV B NOCNeAHeM payHze. Mopanok 3gech
MIMEET 3HaueHwe 13-3a 3pdeKTa HEKOTOPbIX KapT XULLHKOB.

Mrpoku MnopcuMTbiBalOT OYKM 3a KapTbl mepef HUMW,
BK/toYas KapTbl Arog 1 MpnboB. Virpok, y Kotoporo 6onblue
BCEX OUKOB, 0ObABNAETCA NobeguTenem.




